24 T - SR

(T6CC)

o 4

T7BB, T67CB, T6CC &7

T67DB, T6DC, T6DDS #75
T67EB, T6EC, T6ED, T6EE &7

P1

EiU LT < T f5: T6CC-025-020-1R00-C100 - T6DC-045-014-2R00-C1
1. WI&®-025-020-1R00-C100 .......ovreverernen, BV 3. T6CC-025-020HIR00-C100 ........ocoorrvirnnnnn, il {1
T67CB T6CC 9B (9N, ) .
78BS | 10CR L | et 4. T6CC-025-020-1[F00-C100 .........covvvrrerrreecs i 7]
SAE 44t [Te7DB | T6DC "ARST
T67DBW? | TeD g5t 2 | °PPS SRSt L
T67EB T6EC T6ED T6EES® |
g [Ties [Tore" T6CC-025-020-1RIE-C100.........rsrvernnn. I
 T67CBW, T 5 - 42 Fiavi T6CC-025-020-1RO08100......................... BETIE
> T67DBW, T6D "FiFjst : #5 Fiibil T6CC-025-020-1R00-CHl00 ................... Y
® T6EE / T6EES : Fd “%‘—”ﬁ%’ﬁ?’%@ﬁﬁﬁkﬁ’{ﬁ” ﬁb’? °
MR AT 1
2. T6CCEE-MRE-1R00-C100...........ccconc... e A e R 5
B < £ 8. T6CC-025-020-1R0O0-CLE .....vvvvvvveeeee NSy
BO2......... 5.8 |003....... 10.8 | 014..... 47.6 [042....132.3
BO3......... 9.8[005......17.2 [017.....58.2 | 045 .....142.4 I 2l UNC
BO4....... 12.8 | 006....... 21.3 | 020..... 66.0 | 050.....158.5 P2 N5 | 3y 1" | 1Y | 3" 1" | 1%
BO5....... 15.9 | 008....... 26.4 | 024 ..... 79.5 |052....164.8 T7BB M1 | MO - -
BO6....... 19.8 | 010....... 34.1 (028..... 89.7 |057.....179.8 T7BBS M1 | MO 01 | 00
BO7....... 225 |012....... 37.1 (031..... 98.3 |062.....196.7 T6CC S:2%" - 01 | 00
BOS....... 249|014 ....... 46.0 (035..... 111.0 | 066 .....213.3 S: 3" - 11 10
B10....... 31.8 |017....... 58.3 [038..... 120.3 | 072.....227.1 T67CB M1 - 11
B12....... 41.0 |020....... 63.8 |042..... 136.0 | 085.....269.0 T67DB, T67EB M1 - 01 -
B15....... 50.0 [022....... 70.3 |045..... 145.7 T6DDS - MO - 00
025.......79.3 | 050.....158.0 T6DC, T6EC, T6ED P2
028....... 88.8
031..... 100.0
P2 P P2 P P2.s.  pL P2 P
I 00 []. () []. []. © [].
S




24 T - SR

KTIXK2

L]

L7

<L
- A
T M T |:
[
BEH(N.m) AT (mm)
il 1 T7BB |[T7BBS|T67CB|T67DB [T6DDS|T67EB
T6CC | T6DC T6EC| L1 | L2 HR K1 x K2 H1 M1
T6ED
SE4 - No SAE (222) 238 | 238 58.2 | 31.7 | 22.225-22.200 | 4.76 x4.71 | 24.53
1 | P4 - SAE C (@31) 721 | 686 83.6 | 49.3 | 31.750 - 31.700 | 7.94 x 7.89 | 35.27 | M10 x 20.0
T4 - SAE CC (238) ® | 90.9 | 50.8 | 38.100 - 38.050 | 9.52 x 9.47 | 42.36 | M10 x 20.0
P4 : SAE BB (225) 357 | 357! 71.4 | 38.1 |25.400-25.370 | 6.35x6.30 | 28.22 | M8 x 16.0
2 T4 : No SAE (@31) 577 73.2 | 38.1 | 31.750-31.700 | 7.94 x 7.89 | 35.27
Pk : SAE-CC ) 91.0 | 50.8 |38.100 - 38.050 | 9.52 x 9.47 | 42.36 | M10x 20
P4 : No SAE (231) 577 | 61.9 | 38.1 |31.750 - 31.700 | 7.94 x 7.89 | 35.27
1ekt . SAE B (] 40.7 | 245 Class 1-J498b, 16/32 d.p. - 13
3 | {t#t : SAE BB 545 455 | 245 | Class 1-3498b, 16/32 d.p. - 15
1et . SAE C [ 971 ® | 557|380 | Class1-J498b, 12/24d.p. - 14 F
1c4# : SAE BB [ 456 | 245 | Class 1-J498b, 16/32 d.p. - 15 f
A 1e# : No SAE [ ) 77.7 | 48.0 | Class 1-J498b, 12/24 d.p. - 14 ’f
1e4it - SAE BB 570 46.0 | 31.5 | Class 1-J498b, 16/32 d.p. - 15
1EHt - SAE CC ® | 622 |315| Class1-J498b, 12/24d.p.-17
1e#t d: SAEB 343 40.7 | 245 | Class 1-3498b, 16/32 d.p. - 13
5 | P4 : No SAE (234) e’ | 883 83.4 | 60.0 | 34.900-34.875| 7.94x7.89 | 38.42 | M8x 16
4 1 1SO (2925) o 70.0 | 40.0 |25.006 - 24.993 | 8.0x7.96 | 28.22
R | ‘P4 (225) 3021 48.7 | 31.8 | 25.400 - 25.370 | 6.35x6.30 | 28.22 | M8x 16
V | P (232) 5451 89.0 | 50.0 |32.000 - 31.960 | 10.00 x 9.98 | 35.40 | M12x 24
X | ‘P4t (227) 4231 64.1 | 49.2 |26.950 - 26.920 | 6.35x6.30 | 29.85 | M8x 16
W | P4 (@31) 545" 55.5 | 38.1 {31.750-31.700 | 7.94x7.89 | 35.27 | M8x 16

' T67CBW, T6CCW
2 T67DBW, T6DCW




T6CC
E 38.1
L1 Al Al _A_L E 101.6
G| 265.6
L2 I 88.2
8 J1| 101.60
T6CC i J2| 101.55
T6DC ~ N| 146.0
T6DDS 7 — O| 1745
T6EC = i - op| 143

T6ED T6DC
E 38.1
F| 1143
C1 C1 C1 G 286.0
I | 109.5
o T6CC h h B J1| 127.00
| T6DC J2| 126.95
T6EC LT E F - ! ‘ N| 1810
T6ED ‘ T ‘ 0| 2124
L2 oP| 175

KIXKD A \ T6DDS
= 5 = E 38.1
| F| 1485
<1 . - 3 G| 3480
o | I— o I 1485
- J1| 127.00
= J2| 126.95
j— N| 1810
N1| 1145
O 2130
0 oP| 175

T6EC
. . L1 £ F El 523
N 5 - - - F| 1185
T6DDS T W @ 331.6
L2 | 136.7
/ J1| 127.00
I T J2| 126.95
— _ D N| 1810
T la o o o| 2130
— | | ;, P 17.5

< === E — — 4 ) A T6ED
e E 52.3
F| 1335
M1 || D G| 361.0
= — I | 1482
J1| 127.00
G J2| 126.95
N| 1810
o| 2130
oP| 175

Hs] (mm)
I -
I Al B1 @c1 D1 T
2l UNC
P1 1’ 26.2 52.4 25.4 76.2 */g"-16UNC x 19.0
01-11: % 22.2 477 19.0 76.2 3,

T6CC P2 00-10: 1" 26.2 52.4 25.4 747 g"~16UNC x 19.0
s 10-11: 2 %" 50.8 88.9 63.5 841 ¥-13UNC x 23.9
00-01: 3 61.9 106.4 76.2 : /5"-11UNC x 28.4
P1 1Yy 30.2 58.7 31.8 82.6 “I,s~14UNC x 22.3
T6DC P2 1" 26.2 52.4 25.0 74.7 %/;’-16UNC x 19.0
S 3" 62.0 106.4 76.0 88.9 %/>-11UNC x 28.4
P1 1Y 30.2 58.7 31.8 82.6 MI12x22.3 | '/is-14UNC x 22.3
T6DDS P2 1Y) 30.2 58.7 31.8 101.6 M12x24.0 | '/s-14UNC x 24.0
S 4’ 77.8 130.2 101.6 115.0 M16 x 30.0 | /g” -11UNC x 30.0
P1 1" 35.7 69.8 37.1 98.4 14"-13UNC x 23.4
T6EC P2 1" 26.2 52.4 25.0 74.7 %/s’-16UNC x 19.0
S 3% 69.9 120.6 88.9 102.4 5/’-11UNC x 29.5
P1 1% 35.7 69.8 37.1 98.4 1"-13UNC x 23.4
T6ED P2 1Y, 30.2 58.7 29.5 101.6 "I,s-14UNC x 24.0
S 4 77.8 130.2 101.6 102.4 %/z-11UNC x 30.0




24 T - SR

T7BB
E 38.1
F| 1016
G| 2622
[ 98.6
J1| 100.00
J2| 99.97
N| 140.0
0| 1745
2P| 140
T7BBS
o~ E 38.1
7 F| 1016
— G| 2622
> I 98.6
J1| 101.60
J2| 101.55
N| 146.0
0| 1745
o o Clippl 123
T1 T1 T1 T67CB
E 38.1
F| 1016
G| 2656
[ 88.2
0 J1| 101.60
J2| 10155
N| 146.0
0| 1745
B N LT E . i < - oP| 143
‘ ‘ T67DB
L2 E 38.1
—\ F| 1143
KIXK2 _ G| 286.0
o o o —_— A | 109.5
e 3 J1| 127.00
< — = b J2| 126.95
B l ) N| 1810
0| 2124
T —h| oP| 175
_ : T67EB
N : E| 523
G F| 1185
G| 3316
I | 136.7
J1| 127.00
J2| 126.95
N| 1810
0| 213.0
oP| 175
R (mm)
1 T [ IRk
W Al B1 @cl1 D1 — L
2l UNC
o1y 22.2 47.6 19.0 3
BB PL | o7 Py 4 o5 4 74.7 M10 x 19.0 /5"-16UNC x 19.0
T7BBS | p2 % 22.2 47.6 19.0 74.7 M10 x 19.0 3g>-16UNC x 19.0
S 2y 50.8 88.9 63.5 84.1 M12 x 22.4 14"-13UNC x 23.9
P1 17 26.2 52.4 25.4 76.2 M10 x 19.0 3/5-16UNC x 19.0
T67CB | P2 Y% 22.2 477 19.0 76.2 M10 x 19.0 3/5-16UNC x 19.0
S 2y 50.8 88.9 63.5 84.1 M12 x 30.0 1"-13UNC x 23.9
P1 1Y 30.2 58.7 31.8 82.6 M12 x 22.3 "1"-14UNC x 22.3
T67DB | P2 Y% 22.2 47.7 19.0 74.7 M10 x 19.0 3g>-16UNC x 19.0
S 3 62.0 106.4 76.0 88.9 M16 x 28.4 5-11UNC x 28.4
P1 11 35.7 69.8 37.1 98.4 M12 x 23.5 14"-13UNC x 23.4
T67EB | P2 Y 22.2 477 19.0 74.7 M10 x 19.0 3/g-16UNC x 19.0
s 3 69.9 120.6 88.9 102.4 M16 x 29.5 5>~ 11UNC x 29.5




